MAT2705-01/04 07S Quiz 8 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL parts
of problem. Keep answers EXACT (but give decimal approximations for mterpretatlon) Indicate where
technology is used and what type (Maple, GC).
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For the 2 mass 3 spring problem let
f =(2 cos(¢), 0) and set

The eigenvalues of A are A =—4,-16 and the corresponding matrix of
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. "= ” = AB +
» solution X AN KAﬂ @KB_BH, - ’ ﬂ \
=[-4e €| oo X:B‘/‘_T ‘BABH+B§
@G) A i :[C—lo’\ ’
- [ RAAR

SO /= —-10%X 6%z +2ost " Cosk

< Y‘”: CX\V(OXZ gl 491“- 3

y,/t= =16 Y, e cast

...‘ .
B"}‘ l[ ][Zws% VMFB Y, "+ by, = —cost) = rivle=o, =4
) 0 —(o$t

-l _ pe

8 = -ZL[A l

Uin= C (e +Casinlt Yip= Cs cost Yip I+49'P‘ Cs+4Cs) (st = 2Cs cost i (DCSC}_&

Y= Czaxdt 1(aS4t Yap= Ge cost Yap!' +16Yap= (= ¢ +10c) Gost = ISCecusl s

3 Cs=l, 1S Ce=-\ —3 Cg = ‘Lg 3 CG:—_ILS'
- 9\: C\COS’H?“'CLSMZI& +-‘3—'COS£ ——4-'_;(_): [Yl - él (052";.+CZS|02{+J§(°JL) [‘\} b (C3(0546+(4.SW)4€)","'}‘§@5£ ﬁ]}
W= GGt Usit —fe sk X ‘ .
) X = Cansnt +20et-Eand) ({4 (AGet daest thaod) fI]

el 9 (e - (TR

= Lot [\] & 'S>[A < +c3+3‘g ,is LGS T - ans

C i J X }: -\/3
-—)-(\Mo\: 2G [\}+4C4K.\] = [{c: [()D ‘tcﬁ i%].:, 2=0=>Cyg /;®

3 uas,zt g wos4E + (3+Jr<) (o:{rl
1 a2t Yo o5l + G Ij'f\)c""k

f\:@;ﬁ@ w2t + 3§ est) m y (Fg Cos4t ~[lscog{> [ﬂ l - [
e

_J;. 1A —%—;a}s’-ﬁ quZ ost Yo -:_JS— (os2t + l_‘_co;{gé + % (ogfc\




